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VIABILITA' INTERNA - PLANIMETRIA STRADA IN

PROGETTO - PARTE 4

07/2023 MB Emissione 07/2023 MP 07/2023 SMB

1:1.000

A0

LUGLIO 2023

D CI D 05 0026 A

VERTICE 44

XT1 =  438275.969
YT1 = 4919091.226
SVC1=       0.000
XTC1=  438275.969
YTC1= 4919091.226
AC1 =       0.000

XV  =  438266.222
YV  = 4919084.140
AV  =    184.7312
AD  =     15.2688
XC  =  438217.163
YC  = 4919172.108
R   =     100.000
SVRC=      23.984
SVL =      23.984

XT2 =  438255.072
YT2 = 4919079.572
SVC2=       0.000
XTC2=  438255.072
YTC2= 4919079.572
AC2 =       0.000

VERTICE 45

XT1 =  438240.554
YT1 = 4919073.625
SVC1=       0.000
XTC1=  438240.554
YTC1= 4919073.625
AC1 =       0.000

XV  =  438224.547
YV  = 4919067.067
AV  =    175.8229
AD  =     24.1771
XC  =  438274.672
YC  = 4918990.342
R   =      90.000
SVRC=      34.180
SVL =      34.180

XT2 =  438212.111
YT2 = 4919055.043
SVC2=       0.000
XTC2=  438212.111
YTC2= 4919055.043
AC2 =       0.000

VERTICE 46

XT1 =  438183.906
YT1 = 4919027.770
SVC1=       0.000
XTC1=  438183.906
YTC1= 4919027.770
AC1 =       0.000

XV  =  438175.822
YV  = 4919019.954
AV  =    182.2202
AD  =     17.7798
XC  =  438128.296
YC  = 4919085.281
R   =      80.000
SVRC=      22.343
SVL =      22.343

XT2 =  438165.897
YT2 = 4919014.669
SVC2=       0.000
XTC2=  438165.897
YTC2= 4919014.669
AC2 =       0.000

VERTICE 47

XT1 =  438128.692
YT1 = 4918994.857
SVC1=       0.000
XTC1=  438128.692
YTC1= 4918994.857
AC1 =       0.000

XV  =  438118.597
YV  = 4918989.481
AV  =    181.9183
AD  =     18.0817
XC  =  438166.293
YC  = 4918924.244
R   =      80.000
SVRC=      22.722
SVL =      22.722

XT2 =  438110.412
YT2 = 4918981.491
SVC2=       0.000
XTC2=  438110.412
YTC2= 4918981.491
AC2 =       0.000

VERTICE 48

XT1 =  438079.478
YT1 = 4918951.296
SVC1=       0.000
XTC1=  438079.478
YTC1= 4918951.296
AC1 =       0.000

XV  =  438066.347
YV  = 4918938.478
AV  =    162.2091
AD  =     37.7909
XC  =  438121.390
YC  = 4918908.361
R   =      60.000
SVRC=      35.617
SVL =      35.617

XT2 =  438062.632
YT2 = 4918920.507
SVC2=       0.000
XTC2=  438062.632
YTC2= 4918920.507
AC2 =       0.000

VERTICE    49

XT1 =  438042.088
YT1 = 4918821.127
SVC1=       0.000
XTC1=  438042.088
YTC1= 4918821.127
AC1 =       0.000

XV  =  438042.088
YV  = 4918821.127
AV  =    199.5081
AD  =      0.4919
XC  =  438042.088
YC  = 4918821.127
R   =       0.000
SVRC=       0.000
SVL =       0.000

XT2 =  438042.088
YT2 = 4918821.127
SVC2=       0.000
XTC2=  438042.088
YTC2= 4918821.127
AC2 =       0.000

VERTICE 50

XT1 =  438035.069
YT1 = 4918788.446
SVC1=       0.000
XTC1=  438035.069
YTC1= 4918788.446
AC1 =       0.000

XV  =  438032.758
YV  = 4918777.687
AV  =    182.5953
AD  =     17.4047
XC  =  438113.285
YC  = 4918771.646
R   =      80.000
SVRC=      21.871
SVL =      21.871

XT2 =  438033.438
YT2 = 4918766.704
SVC2=       0.000
XTC2=  438033.438
YTC2= 4918766.704
AC2 =       0.000

VERTICE 51

XT1 =  438033.726
YT1 = 4918762.049
SVC1=       0.000
XTC1=  438033.726
YTC1= 4918762.049
AC1 =       0.000

XV  =  438034.417
YV  = 4918750.889
AV  =    179.8326
AD  =     20.1674
XC  =  438103.592
YC  = 4918766.373
R   =      70.000
SVRC=      22.175
SVL =      22.175

XT2 =  438038.549
YT2 = 4918740.500
SVC2=       0.000
XTC2=  438038.549
YTC2= 4918740.500
AC2 =       0.000

VERTICE 52

XT1 =  438040.625
YT1 = 4918735.281
SVC1=       0.000
XTC1=  438040.625
YTC1= 4918735.281
AC1 =       0.000

XV  =  438044.991
YV  = 4918724.307
AV  =    181.3374
AD  =     18.6626
XC  =  437966.291
YC  = 4918705.711
R   =      80.000
SVRC=      23.452
SVL =      23.452

XT2 =  438045.999
YT2 = 4918712.539
SVC2=       0.000
XTC2=  438045.999
YTC2= 4918712.539
AC2 =       0.000

VERTICE 53

XT1 =  438046.788
YT1 = 4918703.328
SVC1=       0.000
XTC1=  438046.788
YTC1= 4918703.328
AC1 =       0.000

XV  =  438048.101
YV  = 4918687.999
AV  =    175.8088
AD  =     24.1912
XC  =  437967.080
YC  = 4918696.501
R   =      80.000
SVRC=      30.400
SVL =      30.400

XT2 =  438043.635
YT2 = 4918673.276
SVC2=       0.000
XTC2=  438043.635
YTC2= 4918673.276
AC2 =       0.000

VERTICE 54

XT1 =  438034.675
YT1 = 4918643.742
SVC1=       0.000
XTC1=  438034.675
YTC1= 4918643.742
AC1 =       0.000

XV  =  438031.514
YV  = 4918633.322
AV  =    190.7734
AD  =      9.2266
XC  =  437891.135
YC  = 4918687.287
R   =     150.000
SVRC=      21.740
SVL =      21.740

XT2 =  438026.881
YT2 = 4918623.468
SVC2=       0.000
XTC2=  438026.881
YTC2= 4918623.468
AC2 =       0.000

VERTICE 55

XT1 =  438010.937
YT1 = 4918589.555
SVC1=       0.000
XTC1=  438010.937
YTC1= 4918589.555
AC1 =       0.000

XV  =  438006.011
YV  = 4918579.077
AV  =    185.3229
AD  =     14.6771
XC  =  438101.435
YC  = 4918547.009
R   =     100.000
SVRC=      23.055
SVL =      23.055

XT2 =  438003.609
YT2 = 4918567.750
SVC2=       0.000
XTC2=  438003.609
YTC2= 4918567.750
AC2 =       0.000
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VERTICE 42

XT1 =  438373.631
YT1 = 4919188.176
SVC1=       0.000
XTC1=  438373.631
YTC1= 4919188.176
AC1 =       0.000

XV  =  438368.234
YV  = 4919170.154
AV  =    170.5936
AD  =     29.4064
XC  =  438296.995
YC  = 4919211.130
R   =      80.000
SVRC=      36.953
SVL =      36.953

XT2 =  438355.370
YT2 = 4919156.427
SVC2=       0.000
XTC2=  438355.370
YTC2= 4919156.427
AC2 =       0.000

VERTICE 43

XT1 =  438343.133
YT1 = 4919143.368
SVC1=       0.000
XTC1=  438343.133
YTC1= 4919143.368
AC1 =       0.000

XV  =  438333.401
YV  = 4919132.982
AV  =    187.9544
AD  =     12.0456
XC  =  438233.680
YC  = 4919245.935
R   =     150.000
SVRC=      28.382
SVL =      28.382

XT2 =  438321.888
YT2 = 4919124.612
SVC2=       0.000
XTC2=  438321.888
YTC2= 4919124.612
AC2 =       0.000
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